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INSTRUCTIONS FOR CANDIDATES
Answer all questions
All questions carry equal marks.
Only one answer is to be given for each question.
If more than one answers are marked, it would be
treated as wrong answer.
Each question has four alternative responses marked
serially as A, B, C, D. You have to darken only one
circle or bubble indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.

. 1/3 part of the mark(s) of each question will be

deducted for each wrong answer. A wrong answer
means an incorrect answer or more than one
answers for any question. Leaving all the relevant
circles or bubbles of any question blank will not be
considered as wrong answer.

. Mobile Phone or any other electronic gadget in the

examination hall is strictly prohibited. A candidate
found with any of such objectionable material with
him/her will be strictly dealt as per rules by
Committee.

. Please correctly fill your Roll Number in O.M.R.

Sheet. 5 Marks can be deducted for filling wrong or
incomplete Roll Number.

If there is any sort of ambiguity/mistake either of
printing or factual nature, then out of Hindi and
English Version of the question, the English Version
will be treated as standard.

39wl qffasT F a9 dF T @ Tq dF FeT o A

Do not open this Test Booklet until you are asked to do so.
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wfereTeT worm & FFafAT AT TR T FAF TA ?
1. 379TEd T&dia 2. foheq faereT

3. Hfdee fAea

4. M N I SaRT HTGETe THT & ITSeT T AT
(A) 1,2,3,4 (B) 2,3,4,1
(C)4,1,2,3 (D) 4,1,3,2

Give the correct number according to the demand

related to the Constituent Assembly?

1. August proposal 2. Cripps Mission

3. Cabinet Mission

4. Demand for formation of Constituent Assembly by M
N Roy

(A)1,2,34

(C)4,1,2,3

(B) 2,3,4,1
(D) 4,1,3,2

SR wRue A R{dvar § @ Y W RER
o -

1. AR Tfgen & g ARTRST 7w &1

2. T3 & AN - faderen Rgled =arafad i & &1
3. Afaure 7 TR 2reg FI ool oTal §

4. fefeer dae &1 e HRAT qae T 8

(A) 3TIFT TR T §

(B) 3udFd ART 3T §

(C)haer 1,2 AR 4 38T gl

(D) hael 3 3R 4 38T &

Consider the following statements about the

features of the Indian Constitution -

1. There is provision for dual citizenship in the Indian
Constitution.

2. The Directive Principles of State Policy are of
justifiable nature.

3. The word federal is not mentioned in the

Constitution.

4. Like the British Parliament, the 'Indian Parliament' is
sovereign.

(A) All the four above are true.

(B) All the four above are false.

(C) Only 1,2 and 4 are false.

(D) Only 3 and 4 are false.

e wfaure Feee garr #d () A M I 21 a4 @
e 18 aY &Y &Y A?

(A) 61aT TfaeTeT TAY (B) 73aT TIAUTT TLATET

(C) 52aT "fgyrsT @AMy (D) 91aT HiaursT Ty

By which constitutional amendment the voting age
was reduced from 21 years to 18 years?

(A) 61st constitutional amendment

(B) 73rd constitutional amendment

(C) 52nd constitutional amendment

(D) 91st constitutional amendment

st Wavay ufaantt gden &=, st @dyar faemdis ageit, Sy |

e 9 AgeEr TiaTe § §Fad FlEar v

HYA HAT § ?

(A) = Td Hgrerar qliesh @ FgiFd aseafd
ST & ST § 3R SHH F&SHT 6 AT 65 AY
gl gl

(B) 3 T & 3MUR 4T & ¢ o foh 3Tddsd
ST & ~IraTeer T g

(C) TE #RA FIHN & HW oIl Wi H 4§ Th g

(D) Tg Tseafa & wid SFAer giar §1

Which one statement related to the Comptroller

and Auditor General is false?

(A) The Comptroller and Auditor General is appointed
by the President and his tenure is 6 or 65 years.

(B) The grounds for his removal are the same as that
of a Supreme Court judge.

(C) He is one of the chief Accounts protectors of the
Government of India.

(D) He is responsible to the President.

qREH ¥ 7F 1 IR TEIRE F1 §E FA FiAar §

1.@’T 2. Sfeaar 3. 9RT 4. A1m
(A) 1,234 (B) 2,3,1,4
(©)3124 (D) 3,2,1,4

What is the correct order of hills from west to east

1. Khasi 2.Jaintia 3. Garo 4. Naga
(A)1,2,3,4 (B) 2,3,1,4
(C)31.24 (D) 3,2,1,4

qd & qfRae i IR gdq DA w1 7 FA A
afeyd Hfew -

1. Heprel 2. etotan
3. gtenfady 4, FAT3C TARC
(A) 1,234 (B) 2,1,4,3
©) 2134 (D) 2,3,4,1

Arrange the mountain peaks in the correct order
from east to west -

1. Makalu 2. Kanchenjunga
3. Dhaulagiri 4. Mount Everest
(A)1,2,34 (B) 2,1,4,3

(©) 21,34 (D) 2,3,4,1

id =Y gl Rud § 2

(A) 3RTEUS (B) dfAeraTg

(C) RHTIeT Ueer (D) el

Where is the Silent Valley located?
(A) Uttarakhand (B) Tamil Nadu
C) Himachal Pradesh (D) Kerala
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10.

11.

e gafaa 7 ¢ -

CEIC) afear

(NEICURAEIIC] ST - Jar

(B) T I3 Tl - S

(C) fo¥e amsma T - "delot

(D) ATST I3 AT - ST

The correct match is not given -

Doab Rivers

(A) Bari Doab Beas - Ravi
(B) Rachna Doab Ravi - Jhelum
(C) Bist Doab Beas - Sutlej

(D) Chaj Doab Chenab - Jhelum

oS3 (T g3 T arh) F I v
siier Fladlt & 2
(A) T et

(C) VrshEdTeT it

(B) AlishIan sieT
(D) ferehe sirer

Which lake is famous for Kebulamjao (floating
national park)?

(A) Sangmo Lake
(C) Rakastal Lake

(B) Loktik Lake
(D) Pulicat Lake

e & @ P9 qgar F ‘FHaTT MNUT FT TAT § ?
(A) 3oa (B) g®OT
(C) fasuy (D) 31fRasir

Which of the following gods has been called
'Ritsya Gopa'?

(A) Indra (B) Varun

(C) Vishnu (D) Ashwini

g fAee A -

s grafaa &1

1. FHTEAT () TEa

2. gleaars (@) ITEgaT

3. drr @) T FHATary
4. garcl () 3T FFART

(A) 1(®), 2(), 3(9), 4@
(B) 1(%), 2(T), 3(9), 4()
(C) 1@, 2('), 3(W), 4(®)
(D) 1(®), 2(7), 3(H), 4T

Match correctly -

Officer Related Work

1. Collector (a) Revenue

2. Sannidhatra (b) Treasurer

3. Tirtha (c) Lower Employee
4. Yukta (d) Higher Employee

(A) 1(b), 2(a), 3(d), 4(c)
(B) 1(a), 2(b), 3(d), 4(c)
(C) 1(c), 2(d), 3(b), 4(a)
(D) 1(d), 2(b), 3(a), 4(c)

12.

13.

14.

FSTUT WHIAT 1 AGHT § FFafud I/ FYF

9T hIfAT-

(A) 3HAR 9 AIR & et & faenfaa & S gaf aar
IGECIGLEY

(B) J&T FITRTR T ATET §STUT AT Tl H TTect 3T
gl

(C) At IR e Tl a1 gt grar &)

(D) I T FfcTAt T oot HH Teheileh T TATIT ST AT|

Identify the incorrect statement related to the

architecture of the Harappan Civilization-

(A) Generally the cities were divided into two parts,
the high fort and the lower city.

(B) Evidence of a large bathhouse has been found
from a site called Harappa.

(C) Pictographic script was used on seals.

(D) Bronze statues were made using the lost wax

technique.
FeAaeaT fhad elar i 1T 41?

(A) FEFAS FaTeTh (B) forsT 2mmg ereren
(C) FrersereT fErereft (D) ARG FITereh

In whose court did Ibn Battuta stay?
(A) Muhammad Tughlaq

(B) Firoz Shah Tughlaq

(C) Alauddin Khilji

(D) Ghiyasuddin Tughlaq

ATESAET o fAFd & q v - v F1 A&ATOT Famr
qr ?

1. feeelr &7 ST ATSG

2. BN &7 ATIHAR &1

3. feeelr &1 orer foherr

4. AT SIgleTdlg I

(A) 397 A

(B) haer 2 3R 4

(C)&haer 2,3 3R 4

(D) Fhaar 1 3R 4

Which of the following were built by Shah Jahan?
1. Jama Masjid of Delhi

2. Shalimar Bagh of Lahore

3. Red Fort of Delhi

4. Shahjahanabad city

(A) All the four of the above

(B) Only 2 and 4

(C)Only 2,3 and 4

(D) Only 1 and 4
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15.

16.

17.

18.

19.

voI@ R 7% A Flael §, S STerEry Y it A
# wanfaa Il 82

(1) T STSIHFATSS (2)#AT

(3) AT3eH 3iieFaTss (4) STerarsq
(A) 39 TR (B) haer 1,2,3
(C) ael 1,2,4 (D) &aer 1, 3

Which are the major greenhouse gases that affect
the climate to a great extent?
(1) Carbon dioxide (2) Methane

(3) Nitrous oxide (4) Water vapour
(A) All of the above (B) Only 1,2,3
(C)Only1,2,4 (D) Only 1,3

farafaf@a & § Fia @ sy Rada F wga FrRa
&2
(1) ShaTfRes Se=T FT IFTAFIAS TooTderet

(2) dieT aTferd TadTfeldl I TEAT [SEmiT

(3) ER-trereh A gl

(4) 3TcATTEr Tlledelel

(A) shael 2,3 (B) shael 1,4
(C) Faer 1,2,4 (D) 3w Hefr

Which of the following are the main causes of
climate change?

(1) Increased burning of fossil fuels

(2) Increase in the number of oil-powered automobiles
(3) Increase in solar flares

(4) Excessive deforestation
(A) Only 2,3

(C)Only1,2,4

(B) Only 1,4
(D) All of the above

taf yquoT I AR ¥ Aefaf@a & & frw g
TAT FAE ?

(A) Frefed (B) s&iger

(C) g&at (D) IS =TéT

Which of the following units is used to measure
noise pollution?
(A) Nanometres
(C) Hertz

(B) Decibel
(D) None of the above

f F 9t F g Fa F fav feafaf@a dur & @
R 92T & ST ST @-

(A) TEHR STSITFATSS (B) FARIT

(C) FelrieT (D) FIeIeT STIHTFATSS
Which of the following gases is used to purify
drinking water-

(A) Sulphur dioxide
(C) Fluorine

faraifas & @ sy @Rue F1 Fla @ g
TSAYTT A AT fQuaavsa & anfea s &
LAY TEATRT F& Y AfFT Ie=T Far § 2

(B) Chlorine
(D) Carbon dioxide

20.

21.

22.

(A) 31TeSe 211 (B) 31eI=de 210
(C) 3rfesde 213 (D) 3Tesde 214
Which of the following Articles of the Indian

Constitution empowers the Governor to promulgate
ordinances during the recess of the State Legislature?
(A) Article 211 (B) Article 210
(C) Article 213 (D) Article 214

Rl 3Ta FITET & ST #Y 39S FEFE A

39 9¢ ¥ fhud G@RT §TrT ST Wl o-

(A) o egRT & foeT$ Sgad & uIRd Fehed & 3R
R ST SarT

(B) IfE T=T & RUHAvVSST 3T IMT F ar-fags
a@ﬁﬁwmaﬁ'?ﬁ{wq%{lcqqmq\qm

(C) TaE FI RAEINT & YR W ITddd AT h

(D) U= AUl #Fsar & AERT W I5T & 3=9

ST o HET wATIHfcl SarT

A judge of a High Court can be removed from his

office during his tenure by-

(A) By the President on the basis of a resolution
passed by the Parliament with a two-thirds
majority

(B) By the Governor of the State if the State
Legislature passes a resolution to this effect with a
two-thirds majority

(C) By the Chief Justice of the Supreme Court on the
recommendation of the Parliament

(D) By the Chief Justice of the High Court of the State
on the recommendation of the State Legislature

A6 F TRE F TEEAT F W@ f-3mFfas e
N W FAGER Fafeyd Hifw-

&. Tl IadT IGer

g. fiRgdT AT uger
T, gt -HeweT waer

. gfarol gdf qerlr gger
(A, 9, M, T (B)Q,dM, &, T

(©g, 495 (D)@, 9,7, %

Arrange the main physiographic regions of
Rajasthan in the correct order in terms of area-

a. Aravalli Mountainous Region

b. Western Desert Region

c. Eastern Plains Region
d. South Eastern Plateau Region

(A)a, b, c,d (B)b,c,a,d
(C)b,c,d, a (D)b,d, c, a
IEGcATPR IR FAT (@) FT Fa@ IfaF

RAFar 59 39 yeor & S9er § 2
(A) ITER T HeTeT (B)qSh HEEYAT &1
(C) A@Taer gaer (D) Msars gear

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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23.

24,

25.

26.

In which sub-region is the maximum spread of
semi-circular sand dunes (Barkhan)?

(A) Ghaggar plain (B) Dry desert region

(C) Shekhawati region (D) Godwad region

T gafaa ffae-

FNAT T FfRTOr T & Serary qe

(1) Aw () AT au &r

(2) Bshw (@) 30T Y q&A

(3) Bwhw (31) 3TE YR T

(4) Cwg () 3SUThfe Tl 3¢ weer

ALF @ Q)T A
B L @TRT A*
CDF QT (T (4=
O@Oag QT ET A=

Match correctly -
Képpen's classification

of climatic regions of the state
(1) Aw (a) Monsoon rainfall region
(2) Bshw (b) Hot arid region

(3) Bwhw (c) Semi-arid region

(4) Cwg (d) Tropical Wetlands

(A (LA (B 3)C (9D
(B)(1)D (9C (3)B (A
COMAE@RC (3B (49D
O)1)Db 2B 3)C (DA

gfarolt Torrye & waifs anf ad & 2

(A) 3R FERT AHAT ArEr &

(B) SaTTeT T WIST hr AT m@Er &

(C) ehrarsoT TshaTal &

(D) St §U ACTHSA qa=it &

Southern Rajasthan receives the maximum rainfall
from?

(A) Arabian Sea monsoon branch

(B) Bay of Bengal monsoon branch

(C) Temperate cyclones
(D) Returning monsoon winds

TSESTT & o 3 0F RFear e aaf 182

(A) glehst (B) HT3TATT

(C) a1 (D) geer

Which forest has the largest spread in Rajasthan?
(A) Dhokra (B) Teak

(C) Bamboo (D) Palash

3ot HRRaHT 3T oAy |, d9AEE 15-25° dfewEw
U 125-165 QY. auT T BH ¥ FIA HHA ¢ 2
(A) Fard (B) E

(C) 3t (D) s

27.

28.

29.

Tropical humid climate, temperature 15-25° Celsius
and 125-165 cm rainfall is most suitable for which
crop?

(a) Cotton

(c) Sugarcane

-1 1 -1l § T e fifge -

(b) Wheat
(d) Tobacco

-1 (e sr8) -1 (FTf)
(i) .. " (&) MesT
(i) 5 i (@) fAFames
(REGIGIE;IE (31) ST
(iv) St faer didie (Fthe) (an) FaEr

(A () &F (i) @ (iii) 7T (iv) T
B) () @ (i) 7T (i) T (iv) F
(C) ()& (i) T (iii) F (iv) &
(D) () & (ii) & (i) 77 (iv) &

Match List-1 with List-Il correctly -

List-1 (Cement Unit) List-II
(Established)

(i) J.K. Cement (a) Gotan

(i) Shri Cement (b) Nimbahera

(ii) Binani Cement (c) Beawar

(iv) J.K. Birla Cement (White) (d) Sirohi

(A () a (i) b i) c (v)d
(B) () b (i) ¢ (i) d (iv)a
(©) () b (i) c (i) a (iv)d
(D) ()b () d (i) c (iv)a

AT &Y 9Tl 4T AT - ST AT @ ¢ -

(A) sPreer T (B) ais

(C) =itg 3rEh (D) HaTefrst r

The mines of Nathra ki Pal and Morija-Banola area
are -

(A) Coal (B) Copper

(C) Iron ore (D) Manganese

FIT - BT F TRAATH FolT & TG TN 2

1. T 1 JE 2. Sl R

3. el T o7 4. e & ThsT
(A)1,2,34 (B) shaer 1 31X 2
(C)haer 1,33 4 (D) hadl 3 3R 4

Which are the main sources of biomass energy?
1. Mustard straw 2. Julie Flora

3. Rice husk 4. Sugarcane wood
(A)1,2,3,4 (B) Only 1 and 2
(C)Only 1,3 and 4 (D) Only 3 and 4

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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30.

31.

32.

33.

TSIEATT Y YTl WHAAT TIT AT 3T AT
TId F A gAfad fifST

el T¢IAT TIT TdAT Tl
(1) STy % Herarsr
(2) SR g Tcdisee
(3) fores T AR

(4) 38T g JoaHeG

@@= @ RHE (4u
by " (2)= )& (4
©@T Qg @)F (HT
@mw @ @) @)=
Match the ancient civilization sites of Rajasthan

and their present sites correctly?

Ancient civilization Site Present site

(1) Nagari A. Bhilwara
(2) Bagor B. Chittaurgarh
(3) Gilund C. Udaipur
(4) Ahad D. Rajsamand

(@ 1)A (2)C(3)B4)D
(b)(1)B()A)D#HC
©(1C(@DR)AM@AB
(d(1)B,(2)D(B)C(4) A

gaads (AfPmafes?) & wew frw wear & gred

T
(NEIGICEI (B) 311815
(C) SR (D) 1

From which civilization have the evidences of
Havan Kund (Agnivedika) been found?

(A) Kalibanga (B) Ahad

(C) Bagor (D) Bairath

e vufea e & Agrmon 3R garr A
T§ FrT-AGrs WY FT qviT ¥ -

(A) e gIfed (B) FFereraTe Rremer™

(C) IROT HfF™ (D) FrdAtelr fRrerer@™
Which prashasti inscription describes the Mughal-
Mewar treaty made by Maharana Amar Singh -

(A) Rajsingh Prashasti

(B) Kumbhalgarh inscription

(C) Cheeran inscription
(D) Samoli inscription

faer # ¥ TER-9fER TeEy & TR F ¥ FUT

¥ -

(A) Vgrer 3ifarelE # R ST T FYUH Seold
g3 &l

(B) ATITE IUH =T qEIT ATH ‘ATl AT|

(C) TAT I AT o AT FT Ieor@ fohaT gl

(D) FaTToRR e &1 ITAT AT GfadrT o &I
o

34.

35.

36.

37.

Which of the following is not a correct statement

about the Gurjar-Pratihara dynasty -

(A) The Gurjar caste is first mentioned in the Aihole
inscription.

(B) The other name of Nagabhatta | was 'Nagavalok'.

(C) The Chinese traveller Hieun Tsang has mentioned
Bhinmal.

(D) Gwalior Prashasti was written by Nagabhatta Il.

AAE F ATHH F TG FITHAGAR qaredd
Fifae-

(1) aRTAE ( 2) HAERIOT &rdEr

(3) HGRIUT HFaT (4) SaTE

A)1,2,3,4 B)1,3,4,2
©4,1,23 (D)4,1,3,2

Arrange the rulers of Mewar in correct

chronological order-
(1) Samarsingh

(3) Maharana Kumbha
A)1,2,3,4
(©4,1,2,3

(2) Maharana Lakha
(4) Jetrasinh
(B)1,3,4,2
(D)4,1,3,2

TSETAT F 6 ALAFIT Tl A AfRfedas qgam
Fae faw yater fear sar oar-

(A) TSR HfT & T

(B) ®iieh Ty fAemmeT & 9@ dhegy

(C) Terhr saifay & fow

(D) FA&T =¥ SR & fav

In the early medieval states of Rajasthan, the
Naimittik designation was used for whom?

(A) For the state poet

(B) For the main centre of the public health department
(C) For the state astrologer

(D) For the chief judicial officer

sfia i we Fe Ramma & ywafea o4 2
(A) SRR (B) SierqY
(C) Aars (D) ST

In which state was ‘Bhinth ki Bhach’ popular?

(A) Bikaner (B) Jodhpur

(C) Mewar (D) Jaipur

FHIATST WTAAGTH A “FAX Beg &1 THAIM g arad
AGTS F Uil fehel Tsic T F4T AT AT ?

(A) FeTel SFUT (B) faforaaa=

(C) ¥reeaT AT (D) #ASN $57

What was the name of the political agent of Mewar
who gave the title of "Kesre Hind" to Kaviraja
Shyamaldas?

(A) Colonel Impy

(C) Captain Showers

(B) Williamson
(D) Major Eden

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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38.

39.

40.

A | Y 1 e i -

1. STARTIT S A. rHEfT

2. g i B. forerarst

3. HoollAT Si C. dadr

4. FhgIyoft D. 34
1 2 3 4

(A) A B C D

(B) A B D C

(C)B A D C

(D) D C B A

Match List | with List Il -

1. Devnarayan Ji A. Samalia

2. Hardu Ji B. Tilwara

3. Mallinaath Ji C. Bangati

4. Kehardhani D. Aasind
1 2 3 4

(A) A B C D

(B) A B D C

B A D C

(D) D C B A

Arafaf@d 7=uf F N & AR fifew -

1. 2HTaely 2. GUEER

3. faRgerds 4. FoThIad! I HAT

5. SR ATAT

39geFd H q HIdT/ oAl IoY =IHT Tl (ST Hia)
ZaRTIRT§ -

(A)1,3Td5 (B)1,2Td 4
(C) FaaT 33X 5 (D) 3udeFa Tt
Consider the following texts -

1. Desavali 2. Sudhasagar

3. Virahshatak

5. Kabutar Nama
Which of the above texts is/are written by Nyamat
Khan (Jaan Kavi) -
(A)1,3and 5

(C) Only 3and 5

4, Kanakavati Ki Katha

(B)1,2and 4
(D) All the five of the above

Hiad | F Hlaw 11 § gafaa AfSe qur A Re &

%< T FEIT A a1 3R e -

1. SIS S &l Afeel A. ZIRY

2. faefrroT Afee B. &l qX

3. QU3 Agled Afrex C. &leT

4. 33 HIHATY HieeI D. SR
1 2 3 4

(A) A B C D

(B) D C A B

(@) D C B A

(D) D A B C

Match Column | with Column Il and give your
answer using the code given below -
1. Ladli Ji Temple A. Dungarpur

2. Vibhishan Temple B. Dholpur
3. Sepau Mahadev Temple C. Kota
4. Dev Somnath Temple D. Jaipur

41,

42.

43.

44,

1 2 3 4
A) A B C D
(B) D C A B
(©) D C B A
(D) D A B C

ffaf@a & @ sl a7 T a8 ¢ -

(A) RET=T gd1 7 fATor dR ARGOT 9 aR A Ewarr
T

(B) Rarewr gt &l STl gat 1 ol ot avgr SireT &1

(C) SII-IRIICT =418 1 T & gil # F& Ty
T 3171 AT

(D) 38 g # Hdl ATIeMTg I e U &

Which of the following statements is not correct -

(A) The Siwana fort was built by Veer Narayan Pawar.

(B) The Siwana fort is also called the key to the Jalore
fort.

(C) Jayanarayan Vyas was kept captive in the Siwana
fort.

(D) The dargah of Saint Malik Shah is situated in this
fort.

Fied | B e || § gAfaa AfGe qar A Re
T FT H FEEAT F ITAT 3R ST

1. TS FAgeT A. ST
2. BIAAGA B. S&T
3. 9431 Aol C. Hrerarsr
4. AEORE FgA D. i

(A) 1-A, 2-C, 3-B, 4-D
(C) 1-A, 2-B, 3-C, 4-D

Match Column | with Column Il and give your
answer using the code given below -

1. Bijolai Palace A. Jodhpur
2. Chhatra Mahal B. Bundi
3. Baneda Palace C. Bhilwara
4. Mubarak Mahal D. Tonk

(A) 1-A, 2-C, 3-B, 4-D
(C) 1-A, 2-B, 3-C, 4-D

(B) 1-B, 2-C, 3-D, 4-A
(D) 1-C, 2-B, 3-A, 4-D

SAfa¥awy, ARFAg g® , dTafig HIE I &
Ty A A AT F Fa A E -

(A) AaT FHell (B) HTRRY

(C) 3&cThell (D) %3 TRy

Jyotiswaroop, Mohammad Hanif, Lal Singh Bhati
etc. are related to which one of the following arts -
(A) Theva art (B) Meenakari

(C) Usta Kala (D) Phad painting

Flar vw gafaa ad ¥ -
(A) TEHTT - 3¢TR

(C) 3/t - #ferarsr

(B) Rdw - S
(D) ITH - Sk
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Which one is not correctly matched -
(A) Takhman - Udaipur (B) Chitera - Jodhpur
(C) Ankan - Bhilwara (D) Aayam - Bikaner

AT el & TR A AR AfEw -

1. gg9re Fa=dlely & wehrer & o &7 &7 31, AR
3UR & AT B

2. goft - SUft &Y IASTEUTT dT AlATfordr i gl Srdr
gl

3. GIR™, ORMA, ARG, dqetst e REeR
Argeany el & @Fafd gl

4. 9 - 9ferat 1 gaiee FEoT g8 Aol H Frefehar
gl

3Ed # ¥ PPN FAT T A ¢

(A) Fad 3 3R 4 (B) dhaer 1 3R 2

(C) haer 1 3T 4 (D) 3w uRT

Consider the following statements -

1. The credit for bringing Devgarh style of painting to
light goes to Dr. Shridhar Andhare.

2. Bani-Thani is also called the Monalisa of
Rajasthan.
3. Painters like Khubiram, Ghasiram, Narayan,

Chaturbhuj etc. are associated with the Nathdwara
style of painting.

4. The maximum depiction of animals and birds is
reflected in the Bundi style.

Which of the above statements is/are correct.

(A) Only 3 and 4 (B) Only 1 and 2

(C)Only1and 4

(D) All the four of the above

TTHeT duT e Fa & wFaftd § -
(A) ISTELT olfeh AT & 9T

(B) ISTEUTAT gEdehell & 3cUIG

(C) TSTEYTY cliehafia

(D) T H WiAs 3curea &7
Khatkatya and Jhamatya are related to -
(A) Characters of Rajasthani folk drama

(B) Rajasthani handicraft products

(C) Rajasthani folk songs
(D) Mineral production areas in Rajasthan

FTAT UF IR W FATAT AH -

(A) T - 3ieiag drey I

(B) GRer - R areg I

(C) Ul - ddq drey I

(D) A - el drey I

Which one pair is not correctly matched -
(A) Khanjari - Anvaddha musical instrument
(B) Sunrida - Sushir musical instrument

(C) Pavri - Tat musical instrument
(D) Legim - Ghan musical instrument

48. HiaA | F Hraw || & AT AT qor A Re

49,

50.

51.

52.

T FT H TEEAT F HYAT 3R dAC-

1. IT&{=r A. gTeidr &
2. fger B. SoT &1
3. SIRTEr C.Hars &
4. gafear D. el &1

1 2 3 4
(A) A B C D
(B) B A C D
(C) B A D C
(D) A B D C

Match Column | with Column 1l and give your
answer using the code given below -

1. Rasiya A. Hadoti region
2. Bichhura B. Braj region
3. Jhorava C. Mewar region
4. Sunwatiya D. Jaisalmer region
1 2 3 4
(A) A B C D
(B) B A C D
(C) B A D C
(D) A B D C
frafaf@a gat & v & AR fifcw -
1. I Y 2. ATeErE S
3. STHATY S 4. ST ST
39 H A FieT - FleT g & Rs7 I 2
9
(A) Shael 1 (B)1,23R3
(C) 132 (D)1,23k4

Consider the following saints -

1. Bakhna Ji 2. Madhodas Ji

3. Jasnath Ji 4. Jagannath Ji

Who among the above were disciples of Dadu Ji?

(A) Only 1 (B)1,2and 3
(C)land?2 (D)1,2and 4
srartelt aYelt R & 3 el STl & -

(a) STHaTST (b) #RAYR

(c) Ter (d) SR

Jagrauti dialect is spoken in which region -
(a) Banswara (b) Bharatpur

(c) Karauli (d) Jaipur
w 3w T we -

(A) afed (B) HETTs{icY
(C) |IcTg T (D) Alcelrd

AT FhE TG FATH T JaTeI0r §
(A) F TqeT (B) T TR
(C) 3UTeTel deqeY (D) FEIH Fcqey

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

ffaf@a & ¥ Fa asg F W yww 7 B-

(A) TRT (B) @RI

(C) Fa’T (D) #FIRT

R ereg # IR wewT F v A gam ¥ -
(A) I (B) IHWIR

(C) ACSITR (D) VSR

‘SIYFA e FT FH WU =S 9w -

(A) A + 3Fd (B) I + I
(C) 3R + J&Fd (D) 3T + 3o
‘qgT* ereg T HIY faede g -

(A) T + T (B) Ua + 37T
(C) 9T + 31T DO)9ag +

g1l F7 qaiaT ey A ¥ -
(A) AT (B) &Ik
(C) qusiish (D) =T

e fawed & woit eeq qedt & waiErh ¢ -
(A) &R, 3afa, HaT

(B) #EY, faegamy, erofr

(C) 31T, &R, ATARAT

(D) Texfer, age, Hifer

qaiar ) & Feadt # Iqfa oA wifew-
(A) foroT - 3w, \1g@, 37

(B) TUT - Fweed, R0, URTAA

(C) FUT - IR, HAR, areofay

(D) FI3MT - s, YA, Sferged

“RrEdior &1 Td [T § -
(A) ScchroT (B) HhIoT
(C) 3¥egcitor (D) fahfor

st A Fiver R oo wd 7 ¥ -

(A) GFafa - faufa (B) 55 - 3ifase
(C) 34X - 3 (D) 319l - 3T
fFa FAE # ea-Z7A &1 TH Y A @
(A) TR - oo ==ier 3N I

(B) 3ieTer - 3ifelel = gar 3R 31foe

(C) AT - A= = Rw iR g

(D) 2eiTel - Hellel = aAar 3R fRrse

63.

64.

65.

66.

67.

68.

69.

T FHT qEA A FAAT e qren -« AT F QAT
adF eqsg {NI -

(NRESA (B) TTer@R
C)gse (DEIGIEED

‘ATl FI T TR Fad F At A g ARfFT F7
et § -

(A) ST G FURA T

(B) Tsh 3MTe#T ORTY Y 3R @I &3 Id|

(C) 3™F SATTT aTel I 3UC SoT aTel|

(D) Q& T FFYfeed & T 36 arel|

‘T FT W S AT At 951’ Y F yhe
F ATl ARIFT § -

(A) 3Tl IR Belehd ST

(B) IR &I Sileh Tl oldTcir

(C) &t & &[T Tl & =181 AT

(D) BBwel & T & A & del

The average age of 14 friends is 14 years. If the
age of 15th friend is added, then the average
remains same. What is the age of the 15th friend?

14 et Y dtea 3y 14 € g1 IR 158 A A
g Sirg & ST, A AT §AS At ¥ 159 B
a?rarrgarm%?

(A) 15 years
(C) 14 years

(B) 18 years
(D) 12 years

If '+ means ‘'division', '-' means ‘'addition’, 'x'
means 'subtraction’ and '+' means 'multiplication’,
what will be the value of the following expression?
i '+ # FE Rererer, - w1 A S, ) Fw oS
gerEr AR F IS o 8, @ fefafla sew
FT AT FIT BMM?

[{(48x20)-(2+4)} +(2-4)] =2

(A) 10 (B) 12

(O (D)8

A can do a work in 5 days, B in 4 days and A, B
and C together in 2 days. In what time could C do it
alone?

ATF & & 5 Al # F aFar §, B, 4 et 7 qur
A, B 3R C @ty 34t & &t 2 ot & w7 wa § @
CHFT 50 Fad TAT A FT AFaAT & ?

(A) 15 days (B) 20 days

(C) 26 days (D) 25 days

If 14 January 2022 was Friday, then what will be
the day of the week on 28 February 2025?

IfE 14 STt 2022 F YFAR o1, @ 28 HLEH 2025
F AAE FT SiT AT T g

(A) Friday (B) Monday
(C) Sunday (D) Saturday

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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70.

71.

72.

73.

74.

Select the option that is related to the fifth number
in the same way as the second number is related
to the first number and the fourth number is
related to the third number.

37 RAFeT &1 930 Hfow I gradt g ¥ 3496
YHR Hefta ¢ o qud sEwr | ggel gE @
gafta ¥ 3t ot e, ed gewr @ w@eafta B
9:27::12:48::6:7
(A) 18
(C) 12

(B) 20
(D) 22

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

T @ &t 75 § WA wF ug oo g1 Rw aw
RFedl & @ a7 @ RAwer &1 w9 I J@er H

pru ol

TRAP, MMRE, FHIT, YCZI, ?

(A) RYQY (B) RXQX
(C) RYQX (D) RXQY

Two trains start at the same time from Bangalore
and Chennai and proceed towards each other at
the speeds of 80 km/h and 95 km/h. When they
meet, it is found that one train has travelled 180
km more than the other. The distance between
Bangalore and Chennai is:

A & w @ FHT W AR AR A @ o g
§ aur 80 frdYraer 3 95 frelder & afy ¥ ve-
qEY #1 A dget §1 I § Peddt § @ gar o ¥

fFow g gl & 180 el SwmeT W THY B
dareR 3R Aes & T Fr gl w7 B2

(A) 345 km (B) 400 km

(C) 1200 km (D) 2100 km

In a certain code language, 'TAKES' is coded as
'51', 'LEAVE' is coded as '40'. What is the code for
'TEAM' in that code language?

F fARad Fc s H | 'TAKES' Y '51' F w9 H
Feag fFAT ST B, LEAVE' # '40' F W9 # Feag
fram ST §1 39 F© s # TEAM' F T FT
2

(A) 49
(C) 36

(B) 34
(D) 39

Roshan is the brother of Kripa, who is the son of
Pranjal. Vaishnavi is the wife of Aayush. Pramila is
the daughter of Devika. Devika is the grandmother
of Aayush, who is the son of Roshan. How is
Roshan related to Pramila?

AT, FUT FT §TE ¢, ST GisTel HT GF g1 Asordl, MW
# gt g1 gfdrer, afRwr #r ot 81 a3l Iy #
aEY ¥, S W FT GF T QAT FT GAAT & FAT
qFaeH 72

75.

76.

7.

78.

(B) Tar Father
(D) HAS/ATST  Nephew

(A) |FX  Father-in-law
(C)#1S  Brother

X and Y invest Rs. 5200 and Rs. 6200 respectively
in a business. If X doubles his capital after 6
months. In what ratio should X and Y divide that
year's profit ?

X 3T Y us cgaury & FAW 5200 T9A IR 6200
Y &7 3w = &1 IR X, 6 FOF F 91 U=
gt @Y SNMAT F &ar ¢ X 3R Y F 37 a¥ F awr
® 5w sequra # Renfaa wwar oy

(A) 39 : 37 (B)39:31

(C)39:32 (D) 31:39

Seven people P,Q,R,S,T,U and V are sitting in a
straight line adjacent to each other, facing the
north (not necessarily in the given order). R is
sitting to the immediate right of U. U is sitting third
to the right of P. There are only four persons
sitting between P and T. Q is the immediate
neighbour of V and U. Who can be the immediate
neighbour of S?

P,QR,S T U3 Vams e safFa ta-qgmy &
Ty v Welt f@r F scaw A 3R ST I A8
s @ S RratFsA AR A R UF
AFecaa @ 3T ¥l U, P & ¥ & oY oI «
da1 ¥l PR TH fiw & Faw IR =afFa B & Q,
v 3R U 1 fesean s §1 S w1 fseaw wEh

FiT @ FFar g2
A)Q (B)U
©oT (DR

What is the compound interest on X 5,000 for 2
years @ 5% p.a. compounded annually?

5,000 39F T 2 9§ & fow 5% ¥+ sO=r qT @
THgTG oA fhaelt @, SafF STer afieE w9 @
ST gxar 82

(A) 500.00
(C) 512.50

(B) 510.00
(D) 515.00

Select the option that represents the number of
triangles in the given figure. 39 fa®eq #T T4

St & o el & Pt f dE F g B

(A) 14
(C) 18

(B) 16
(D) 17

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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79.

80.

81.

82.

The marked price of a toy is Rs.1,600. If the
shopkeeper declares a discount of 10% and then
10% cash discount, then what is the selling price
of the toy?

w @l &1 sfea qea 1,600 9¥ gl I
gFEER 10% #T ge AR AT 10% 7% g #ir

wyon FYaT §, @ Rl #1 Rww qea fae §2
(A) Rs.1,096 (B) Rs.1,296
(C) Rs.1,240 (D) Rs.1,088

Study the given diagram carefully and answer the
guestion. The numbers in different sections
indicate the number of persons.

v 7w 3@ 1 eaegEs sreaae wY IRy #
3o &1 Rffes st # sead safFaat f
HEAT FTr ¢

QLTS
How many such boys are there who play
badminton but NOT tennis?

AgI?
(A)9 (B) 17
€8 (D) 11

Three different positions of the same dice are
shown. Select the symbol that will be on the face
opposite to the one having '€'.

wF & U Y A rerr-areer Rufawr fag aE §
3 dieh &1 g9 AT ST €' arel Bod & QAT
Feld 9T Bl

€ @ ¥
€
¥ . % % $
(A)© (B) ¥
© @ (D) $

The respective ratio of milk and water in the
mixture is 4 : 3. If 6 litres of water is added to this
mixture, the respective ratio of milk and water
becomes 8 : 7. What is the quantity of milk in the
original mixture?

fRaor & qu 3R ol F1 FERT equ 4: 371 IR
39 Hor # 6 ex gl Bramr s €, & gy Ak

83.

84.

85.

86.

87.

Ul T HEOT AT 8 : 7 @Y S ¥l HA fAspor

gy & AET FAT 3
(A) 84 litres (B) 50 litres
(C) 48 litres (D) 36 litres

In a certain code language, 'He is my nephew’ is
coded as 'Co Pv Zs Mn’, 'That is my car’ is coded
as 'Zs Pt Pv Ga’, 'He is your uncle’ is coded as 'Co
Pv Ex Yz'. What is the code for ‘nephew’ in this
code language?

tF faRad Fe o & | 'He is my nephew' # 'Co
Pv Zs Mn' & 7 & Feag f&ar sirar €, 'That is my
car' ® 'Zs Pt Pv Ga' & ¥ # Feag fFam omar 7
'He is your uncle' I 'Co Pv Ex Yz' & ¥ & FHeag
mm%lﬁﬁmﬁ' 'nephew'ﬂ?ma:?
TR

(A) Co (B) Mn (C) Zs (D) Pv
A stock of food is enough for 315 men for 48 days.
For how many days the same stock of food is

enough, if 45 more men join?

TF i FT HER 315 oW & AT 48 R&r & faw
vafed §1 g 45 g 3R anfde g sme At sierer

FT I W3R fFaar et & T gafeaq gn?
(A) 46 (B) 42 (C)48 (D) 44

A sum of Rs. 4,000 becomes Rs. 4,960 in 4 years at
simple interest. If the rate of interest becomes 1.5
times of itself, then how much this sum will
become after 4 years?

WIUROT ATsT W 4 a9 & 4,000 $9% FT HALUA 4,960
T g T §1 AR s oW F@E A OL5 I @

ST, @t 4 9% 91 I§ AU fraar g s
(A) Rs. 5,440 (B) Rs. 5,680
(C) Rs. 5,280 (D) Rs. 4,890

Select the option that expresses the following

sentence in indirect speech.

She said to me, “l have often told you not to play with

fire.”

(A) She told me that she had often told me not to play
with fire.

(B) She asked me that she had often told me not to
play with fire.

(C) She told me that she has often told me not to play
with fire.

(D) She said to me that she has often told me not to
play with fire.

he following sentence has been divided into parts.
One of them may contain an error.

Select the part that contains the error from the
given options.

She has been speaking / four languages / very fluent /
since childhood.

(A) since childhood.
(C) very fluent

(B) She has been speaking
(D) four languages

SfEe AR TRTgAfed TawT fohrd e, st @dyal ggreard dief, SnaaT & daraa o derferd
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88.

89.

90.

91.

92.

93.

94.

Select the option that

sentence in passive voice.

They have built a new bridge across the river.

(A) A new bridge will have been built across the river
by them.

(B) They have been building a new bridge across the
river.

(C) A new bridge has been building across the river by
them.

(D) A new bridge has been built across the river by
them.

expresses the given

The following sentence has been divided into
parts. One of them may contain an error.

Select the part that contains the error from the
given options.

The team played / extremely / good / during the match.
(A) extremely (B) The team played

(C) good (D) during the match.

Select the most appropriate ANTONYM of the
underlined word in the given sentence.

It is a misconception that the more you learn, the more
likely you are to succeed.
(A) Hallucination

(C) lllusion

(B) Fallacy
(D) Certainty

Select the option that expresses the following

sentence in passive voice.

The students have presented national level projects to

the jury successfully.

(A) National level projects had been presented by the
students to the jury successfully.

(B) National level projects were presented by the
students to the jury successfully.

(C) National level projects have been presented by the
students to the jury successfully.

(D) National level projects have presented by the
students to the jury successfully.

Select the most appropriate synonym of the given
word.

Beneficial

(A) Helpful (B) Kernel

(C) Winsome (D) Strangle

Select the option that expresses the given

sentence in indirect speech.

The class teacher told, “Kneel down in the corridor.”

(A) The class teacher ordered to kneel down in the
corridor.

(B) The class teacher told that they kneel down in the
corridor.

(C) The class teacher had ordered to kneel down in
the corridor.

(D) The class teacher ordered that they should kneel
down in the corridor.

Select the most appropriate option that can
substitute the underlined segment in the given
sentence.

My brother is resembling my mother.

(A) was resembling (B) resembles

(C) had resembled (D) had been resembling

95.

96.

97.

98.

99.

100.

Select the most appropriate ANTONYM of the

given word.

Virtue

(A) Acquire (B) Stout
(C) Precise (D) Vice

Que No. 96 - 100 (Comprehension)

Read the given passage and answer the question
that follows.

Sustainable utensils are proving to be a crucial tool in
our collective efforts towards building a greener and
more environmentally conscious world. These utensils,
often made from renewable resources such as
bamboo or plant-based materials like cornstarch, offer
a myriad of benefits. Firstly, sustainable utensils
significantly reduce our reliance on single-use
plastics. Plastic cutlery, traditionally used for
convenience, contributes to the vast amounts of waste
that end up in landfills and oceans, polluting
ecosystems and harming marine life.

By switching to sustainable alternatives, we can
minimise this environmental damage. Secondly,
sustainable utensils are biodegradable or
compostable, meaning they can break down naturally
over time. This ensures that even if they do end up

in landfills, they persist for centuries like plastic does.
Instead, they return to the Earth without leaving a
lasting negative impact. These utensils can be reused
multiple  times, further reducing waste. Many
sustainable options are durable and washable,

making them a viable long-term solution

Based on the information provided in the passage,
which among the following is

NOT an example of sustainable utensil?

(A) Wooden cutlery (B) Plastic cutlery

(C) Edible cutlery (D) Bioplastic cutlery

What distinguishes sustainable utensils from
plastic cutlery?

(A) They are made from non-renewable resources

(B) They are more expensive

(C) They have a lower environmental impact

(D) They have a shorter lifespan

Which of the following is NOT a characteristic of
sustainable utensils?
(A) Non-recyclability
(C) Reusability

(B) Biodegradability
(D) Durability

What is the main focus of the passage?

(A) The importance of sustainable alternatives

(B) The benefits and harms of single-use plastic

(C) The environmental benefits of the sustainable
utensils

(D) The economic benefits of sustainable utensils

Which materials are commonly used to make
sustainable utensils?

(A) Plastic and aluminium

(B) Ceramic and wood

(C) Metal and glass

(D) Bamboo and cornstarch
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